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1. Use a table to find the indicated limit.
[xz . BXJ ¥ ( }%

lim

i B A/’\>'\
Xx—-3
(A5
Selact the correct choice below and fill in any answer boxes in your choice. V
O A 2 + 3x f’b \: m K
lim w3 |- {Type an exact answer.)
x=-3% X ] X.é) --’2)

O B. The limit does not exist. \
ID: 14.1.11 C‘

2. Use a table to find the indicated limit.
cos(8x) - 1 _= _— — o
o S50 (>0 = = O
x>0 ' Q (’;oo o \\

Select the correct chaice below and fill in any answer boxes in your choice.

K=" — A=\
. cos(8x)— 1 _ _— . —
Q A. xlino 9x _@ -

—_ = O
O B. The limit does not exist. QG (. cOo0 \\
ID: 14.1.15 ¥ “\‘Le,?/ CQPTOQ M T
3. NUMYLT
Use the graph shown to determine if the limit exists. If it yA
does, find its value.
lim f(x) 4

x—3

. X——fé *
Select the correct choice below and fill in any answer boxes 5 5 K - %
/ (31
O A. limfx)=

in your choice. <\
x—=3

2 b\ x
(O B. The limit does not exist.

ID: 14.1.19 * "‘?\-e,y oo\ O\QQCOO\C\r\
g ) uen ’\'\/\0\)3\\
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+ Use the graph shown to determine if the limit exists. If it yA
does, find its value.
lim £(x) | % N
x—2 I R o 2.4) 7( - X
Select the correct choice below and fill in any answer boxes 3 \

in your choice.

O A imfx=_ j— ,-—/\

-
x—2 »(’"7 4
() B. The limit does not exist. )

ID: 14.1.21 ¥ "ﬂ\e_y AQ(J‘@CMQ\:\ Eﬁ-ﬂg &:CCocen

h 4

[r.
fa
=

Graph the function. Use the graph to find the indicated limit, Ay
if it exists. N |
. 2 _ 8 ¢
lim f(x),4—-x ] TR
x> =2 1/ o
7
Use the graphing tool to graph the function. /“5\\
- A
. . - N TN
Select the correct choice below and, if necessary, fill in the ; L l{ ¥
answer box to complete your choice. Aol B 4 161 8110
A2\ L
/£
OA.  Im f(x)=_§j) |, \
Xx—==2 ‘ -\ / ,\
- . Ta 6 L
() B. The limit does not exist. 1 \
LY 5 \
| \
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Graph the function f(x) = ¢ 2X. Use the graph to find the
indicated limit, if it exists.

fim (x), f(x) = e 2
x—0

Choose the correct graph f(x) = ¢ 2 on the right.

Select the correct choice below and fill in any answer boxes {
in your choice.

OA. limix=_|
x—0

(O B. The limit does not exist.

7
ID: 14.1.31 3 Yo\~ o\?p(‘oo\c,\a\ \N ¥

7. Graph the function. Use the graph to find the indicated limit, if it exists.

9
lim f{(x), f(x)=- ”
x—5

9
Select the graph of the function f(x}= - <

20 20 20?

-2 -2 -2

Select the correct choice below and fill in any answer boxes in your choice.

QA .
O A. lim L2t g (Type an exact answer.} Qo( NI\
s ] ) e “
(O B. The limit does not exist. AU ~\\
- 14.1.33 oo
ID:14.1. 4l e, ZeS0
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8. Graph the function. Use the graph to find the indicated limit, if it exists.

2
lim f(x), fx)=J X xz(0
x—0 -6x x<0

Select the graph of the function f,

O D.
15
-5 5

1
Select the correct choice below and fill in any answer boxes in your choice.
O A lim f(x)= g (Type an exact answer.)

x—0 -
.. ZLCO
O B. The limit does not exist. oo
X Yoot Velnes ORETIED
ID: 14.1.35 S\ QoI % o0
A o o de

9. Graph the function. Use the graph to find the indicated limit, if it exists.

imf), fog=4 X *x=0
x—0 x=-7 x>0

Select the graph of the function f.

O B. Oc. O D.
12 12 12
-12 12 -12 12 -12 12
2 -T2

Select the correct choice below and fill in any answer boxes in your choice.

O A lim f(x)= (Type an exact answer.)
x—0 )(
O B. The limit does not exist, \ 'O E/‘NQQ@,CW
. ;‘_ QJ‘QQCO ot \~eS
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10. Graph the function. Use the graph to find the indicated limit, if it exists.

. cosx x=0
lim f(x), f(x)= 5
x—0 X x>0

Select the graph of the function f.

O A. QO B.

Find lim f(x), if it exists. Choose the correct answer below.
x—0
O A. lim f(x) does not exist X" C\Q?C‘QC}\C«\/\,@ S ‘S\'U\JO
x—0
O B. lim f(x)=0 é;QQQ«:‘.@\J% (\uw\\o,ef S

x—0
OcC, limflx)=-5
x—0
OD. lim f(x)=5
x—0
ID: 14.1.41
11. Use a graphing utility to find the indicated limit rounded to two decimal places. . ¢
g. Ho® Q0 Ao
l_ X3 -3x% +x-3 *S-e&:\’ﬂ
im
xs3| x* = 3x° -5x+ 15 Qqus;:»\% AAN

Select the correct choice below and fill in any answer boxes in your choice,

- L3y & (- )
={ o A C) {Round to two decimal places.) ;—%CX—% — 5 (){-:5\
O B. The limit does not exist.

ID: 14.1.43 (%i-\\(%

lim
X3 x* —3x3 ~b5x+15

O A. [ =32 +x-3 ]

B2

5o dude i S Lo K
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12. Use a graphing utility to find the indicated limit rounded to two decimal places.

3+ 12x% + 36x

lim — 3
x—-6X +6x” +2x+12

Select the correct choice below and fill in any answer boxes in your cholce.

. Noe) S
i x° + 122 + 36x ‘.‘A—S‘C(\CQ PNYaT-haNe
1m =
OA x—4—6X4+6X3+2x+12 \ ec O ;aCPTOSL’
- . equhs 5 & )T
O B. The limit does not exist. e
ID: 14.1.47
. « D‘ \
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= |I| (Type an exact answer.)

x2+3x
X+3

1. A lim [

x—-3

cos(8x) -1
2.A tm X g
9x

x—0

3.A Imf=] 2 |

X=3

4, B. The limit does not exist.

=]
v’>

——
3%

e

-4-

o
| e
I !

| i

6. C.

A tim o= 1]

x—0
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20
-20 20
-2
7. A
] g 9
A lm -—= i {Type an exact answer.)
x—5 X
8. B.
A, lim f(x)= i‘ (Type an exact answer.)
x—0
12
-12 12
12
9. A

B. The limit does not exist.

10.

&

C.

A. Iim f(x) does not exist
x—0

x—3 X4"‘3X3—5X+15

- 3x% +x-3 .
11. A. lim = (Round to two decimal places.)

x3 + 12><2 + 36x
12.A._lm o ]

gor 6 X +6X5 +2x+ 12
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